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60 degree dipping Normal fault set in a homogeneous elastic halfspace

TPV10 and TPV11 On-fault Stations

The fault plane (in a different scale from above), with 10 stations on the fault indicated by stars.

3 Stations on the Earth's surface are at :
0, +4.5 km, +12.0 km along-strike distance, and 0 km down-dip distance
7 Deeper Stations are at:
0 km along-strike distance, and 1.5, 3.0, 4.5, 7.5, 12.0 km down-dip distance
4.5 km along-strike distance, and 7.5 km down-dip distance
12 km along-strike distance, and 7.5 km down-dip distance
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